KARGO
MASTER

" MOUNTING YAKIMA BARS on KM CONGO CAGE"

HARDWARE KIT # 60131

1/4" LOCK WASHERS

For TECHMICAL SUPPORT Call:
1-800-343-7486
Monday- Friday 200 &M bo 4:30 PMLCPACIFIC )
1/4" ACORN NUTS
Top Clamp Bracket

3/8" HEX HEAD BOLTS

1/4" FLAT WASHERS

Yakima
Cross Bar
- Congo Cage _
Side Bar DIAGRAM #1a
o / 1/4"Acorn Nut
5 \ Yakima Cross Bar
' Xy h Tube )
1/4" HEX HEAD BOLTS : Clamps £ -

3/8" FLAT WASHERS

3/8" LOCK WASHERS
3/8" HEX NUTS

Bottom Clamp Strap

Congo Cage
Side Bar

#1= Position the tube clamp around existing Congo Cage tubes at desired location and insert

bolts, washers and nuts through lower clamp and top mount bracket.
Leave bolts loose for final adjustments of rack.

§2= Position Yakima bars and bolt on clamps with equal distance from all end caps to mounting plates. After final positioning of

rack, tighten bolts. THAT'S IT! Your installation is complete,

o g

AR R e ot e S W L 1 U P M P o' S TN S O D T O IR RO B T

MNOTE: If you experience any wind noise, it may be necessary to relocate your

existing Yakima cross bars forward or backward.




